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6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

| partitioned 6
into5and 1

8

' 900000000

00000000

5| 0000000® 5 X 8 = 40
00000000

| 90000000

1| 00000000 1x5=3

I

<&




6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

‘ 6><8=2><|3><8|

— Double 24 is 48

00000 V0@
2 %3  0000000® 3 x 8 =24

90,00 0000
0C000CO0
0000000® 3 x 8 =24
OOO0OO00



6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

_@

6X8=6X2X4




6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

b.

<

| did 6 X 10 then
subtracted 12

10

) R

00000000 0
000000000
0000000000
0000000000

' 90000000000

6 X10=060
60 — 12 =48



6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

6 Double, then double,

© .
-@ then double again

6 doubIe=6 6 double: slslsle double= slelelelslslsls




6 X 8 =48

What methods could you use to calculate 6 X 8 if
you did not know the answer?

If you double one factor and halve one]

.i factor the product stays the same

:2 6

6 X8
1 0000000 12 % 4
00000000"
.| 00000008, 24 X 2
000000
000000
| 9000000




5 X 28 =

Use one of these methods to solve the equation.

_@ ! IpartitionedG] £6x8=6x2x4}

into5and 1
8 6X2X4

N ¥
12 X4 =48

Qx2x4
L
24 X 2

%3]

000000

(9]

¥

(o)

Il

B

o
000000
000000
000000
000000,
Q00000
000000
000000
000000

[EY
-

If you double one factor and halve one | did 6 X 10 then
992 factor the product stays the same = subtracted 12
12 10

6x8 0000000000 6x10=60
12 X 4 0000000000 60 — 12 =48
4 c| 000000O®O OO -
24 X 2 0000000000

0000000000
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| partitioned 6
into5and 1

|

%3]

[EY
-

000000
00000
000000

5 X 28 =

/N
20 8

140

5 X 20 =100
5X8=40
100 + 40 = 140
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5 X 28 =140

T — 5X2X14
,,;»;:;", X 8=6 X X4/ \/
6‘.><'2><4 10 X 14 — 140
00000000 12 X 4 =48
BO0O8S8S  6x2x4 5% 7 X4
02008888 o N

20X 7 =140



5 X 28 =140

If you double one factor and halve one
o2 factor the product stays the same

( ) 6 X 15
-3 X3 _ ( )
=2 X 2
2 X 45 3 X 30

5X 28
10 X 14
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5 X 28 =140

(o %IdidelOthen] 5X30=150

subtracted 12
10

0000000000 6 x 10=:60 —
0000000000 . ., _,. 5X2=10
0000000000 =

000000000

333333338

00000000 150 — 10 = 140

6




Use the methods that
you have just learnt to
solve the problems on
the worksheet. Refer
back to the slides if you
get stuck. Find a method
that works for you!

You might find that
different methods are
more efficient for
different calculations!
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